
 10

2.  
2.1.  

 
.  ( ),  

 
   

 5 . 

 
, 

1W1 – I2W2=F . 
  F  

, . 
F =I *W1. 

  
1 W1 – 2W2 = 0,  

1
2 1

2

WI I
W

 

. 

 
: 

I1W1 – I2W2 = I W1, 
/ /1 1

1 1
2 2

W WI I I I
W W

. 

 
 

. 



 11 

 
  :  

1.  /
2 1

i /
1

I If *100%
I

 . 

2.  , , 1
’

2. 
3.  ,   . 

 
 5  10  

 5%, 10%  
. 

  10 –  
 10%.  

,  10%  
, . 

 
 

2.2.  
 

. 
 

,  

2

IK . 



 12

.  

 
:  

 
 1 , , ,   

,  2 . 
,  

 1. 
, 

,  
. ,  

. 

 
,   

 
.  

.  
.  

,  
.   

. 



 13 

.  
,  

. 

 
: 

,  
.       

 
, 

 1. 
     

, , . 
. 

 
,   

, , 
1.  

. 

 
   

  .    
,   

1. 



 14

 
 2– .  

 Y/ , /Y   
.  ,   

.  
.     

.   . 
 
III.  ,  Y 

 
: 

1. ,  
, . 

2. 3. 
3.   

,   
,  

. 
4.     

. 
 
IV.   

 



 15 

   ,   
. : 

1. , ,  
.  

.  ,   
   

, . 
2.  

3 . 
3.   

, ,  
.  

.   
3 ,  

. 
V.  

 
.  

 
. 

 
VI.  

 
.  

, . 
 

. 
 
 

2.3.  
 
 

. 



 16

 
.  

. , ,  
, .  

   
. 

,   
 

, ,  
 10 ,  

,  ,   
 

. 
 

, .  
: 

1. . 
2. : 

) ; 
) . 

, 
   

. 
 
 

. 
 
 

2.4.  

 
 

 ( ),  



 17 

 
100 . : 

U
W1K
W2

. 

i .  2=0 : 
1

U
2

UK
U

. 

  2, 
 U .  

 U 2= U 1– U. 
:  

1. :       U 2 1
U

1

K U Uf
U

.  

2. .  
 U  

.  . 
 

,  ,  .   
,     

,  
. . 

.  
 

.  
, .  

 
,  .   

.  ( ,  
  ) . –

. 
 

2.5.  
 35  

.  
.  

, .  
,  

,  
. 

 
  

.  ,     
,  

. , 



 18

,   
. 

 
 

. ,  
,  

. 
,  

,  
. 

, ,  
.  

, , . 
   

.   
. 

 
 

V 1, 2, 3.  
.  

.  
V .  

,  
  .  

V , V.1  
. 

,  
.  

, V, . 
–12.  

 
. 4, 

V.   
 



 19 

 
 
 

2.6.  ( ) 

 
.  
,   

.  
. . 
, , ,  

, .  ’k 
  ”k  ,  

,  
.    2 

. ,  



 20

.  
 2 . 

,  
, ,  

.  
 

  ,  
,  .  

,  
. 

 
 

2.7.  ( ) 
, 

,  
V)  .   –  ,   

 
.  ,U=I1/U2. 

,  
.  

, .  
.  

 
. 

 6–10 . 
,  

.  
, , . 

.   
 110 , . 

 
 

2.8.  
 

,  
.  

2.8.1.  
–1  

V,   
,  

.  R1 : 
UR1=K1ICR1=KI(IC–IA)R1 

 ’. 
 



 21 

 
 

 
 R2  ’  600: 

UR2=KI,U*IB’*R2*e–j /3= KI,U*(IB–Ic)*R2*e–j /3. 



 22

 m–n 
, : 

1TA 1TAV

2TA 2TAV

W WR1 0,5 R2
W W

. 

 
R1 i R2  mn, . 

 
 

2.8.2.  
 

. 
,   

, .  
 

.  . 
IP=Ia+Ib+Ic. 

 IP=(Ia+Ib+Ic)1/KI–( Ia +Ib +Ic )*1/KI=3I0/KI–IHB 
. 

, , 
 

.  
.  

 –  
,  

. .  



 23 

 
. ,  

.  
. 

 

 
,   

 
.  

 8–10 .  
. 

2.8.3.  

 
,  

. 



 24

  Ra,  Xa,  Rc,  Xc ,  
,  Umn=0.  

. 

 
,  

: 
Umn=1,5Uab2e–j /6. 

 

 
 

.  
.  



 25 

.  
 – –1 . 

,  
.  

,  
. 

2.8.4.  

 
 

 (  35 )  5–  (  35 ) 
.  

  
: 

Up=Ua+Ub+Uc=3U0/KU. 
 

.  
, .  

  
Up=U0/KU. 

 10 .  
 

. 
,  

. 



 26

 
 

2.9.  
 

.   
.  

 
 

.  
. 1 

 
.   

 ( )  ( ).  



 27 

 
 
 

 ( ). 

 
 2  R,  

VD .   
.  

 


